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Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 
was easy t'tn, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement((:;).

Problem Predict (mental) Check (calculator) *' ?(:) I think ...

2000 710 = d00 :200 � becav5e, � kr� -H.,� s n ,�h ta {( '4
/1 

50 7 10 = 5 5 $becovs� J: k,i "l<..,1_,,,J \\1·\-, s Y\t'\�to,.l(;�

700 bk be-cou 5,e_ r 
V 

7000 7 10 = ,oo kv10W Hr1 IS .,.-v,e,r, fer{ ( l{

0. L) O�C, � \?e_c,q v Se_ 1
:;:
\ov \,, ve..4710 = ?\.,/ \ \f\ \v,1�\t\ s-

'"' 

3 7100 = Q,03 0,03 � becav5e_. V;o..J }10 ··1( 

' rv -· \\,-1 11v-r.OI"'�� S.
>{) 

0.00\ O.CO\
-

1-k bvJ� \+ov
'• 

17 1000 = re.f\o-c.� \ O\� 0V'cl ! . 

9 7 0.1 = 0°9 90 ? J- )tJov2-Jvf fh�) 1,,0°' s rv-0·/t; ,"J/ico-h'O' h

7 7 0.01 = o,-:.; 700 
0.8 7 10 oloi 0,03 fS h,Jo -Z.€xo � - Y\v"' &<-'2.X'n. S- �\Qi.....c-€.-

0.02 7 100 0-00� o.oo� -fK �\){' -Z<l-,,-.o'S - �ovSC\'11&\\c.,, \'\o.c.e...--

What did you do to help yourself
_
solve these problems mentally? r Mo.tvt of +l,_e :Z.€-f'oS' ov,J

ft, e, wo y-tc \;v e_, cL, ct \ Yt d 0. S S.. /J /SO J:_ fo Un J 0. Kw \�-e.¼ O J.s wh', Ck\



 

Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 

was easy�, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement (\?).

Problem Predict (mental) 

2000 + 10 = 

so+ 10 = 5 
7000 + 10 = 7o 
4+ 10 = C),' 

3 + 100 =

1 + 1000 = 
\ 

9 + 0.1 = 

7 + 0.01 = 

0.8 + 10 

0.02 + 100 ' '· 

Check (calculator) 

00 

\� 

0,0 

0,0 

0 

?o 
- ',

l., 

0 

? \J I think ... 

? 

'(Y\ Y j'00\""e'" 

-. 0 SE'. _T s; 

2-oo. 
( )CAS 

What did you do to help yourself solve these problems mentally? ___________________ _ 



Name 

Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 
was easy rt(), what was surprising ( ! ), what was confusing ( ?),what caused disagreement(<::)).

Problem Predict (mental) 

2000 + 10 = 2Cf:D 
so+ 10 = 50 
7000 + 10 = 1XX> 
4+ 10 = O�/LI 
3 + 100 = Oc03 
1 + 1000 = 0 $)00) 
9 + 0.1 = 90 
7 + 0.01 = 700 
0.8 + 10 80 
0.02 + 100 :Oo()Oz 

Check (calculator) 

5 
17/ /,: L C ,

() (y �/ 
- T ? -, 

._) v·
i
_ ... ...r 

:J s()D i_

-· /.
I __,' 

·;--;/ '"'i,C-_.., 

" ,..,.. /
°'

·• l. , , 1 / 
, ) " 7'<-i._,, u .• / . .' 

OoCOoz 

* ! ? <::) I think...* ··1(� i,,._\(itS Wt-1tif: f,;fC{l!.U�l. \-��\ wa.J 20oo

zr·a)J .; M'i = zm o a--<;J&(� hrr '.A 1i.�<f. I) f .!-\ l.. k.� 

0 

' 0 

' 

0 

What did you do to help yourself solve these problems mentally? ____________________ _ 
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Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 
was easy ('to, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement(").

Problem 

2000 + 10 =

so+ 10 =

7000 + 10 =

4 -;-10 =

3-;-100 =

1-;-1000 =

9-;-0.1 =

7-;- 0.01 =

0.8 + 10 

0.02-;-100 

Predict (mental) 

700
6 

l-00 

a L\:_� 
� l 0 

3 

O.a�-=- Wo

(\ 
)__ 

0 (,0 \: \000-
\(j 

¾0 

frc:-o. oi 
1--

Check (calculator) 

1CXV 

s 

�O() 

0.L\

(J.0!) 

0 ,(:)CJ\ 

�o 
-==\-06 --·- -· .. --

16.0C/3
: Gxooz__ 

*' 

� 

¥ 

� 
P·? 

... )< 
,;,- , 

� 

� 

<? \ 
' 

\1 
I ' 

'1 
t 

J 

� 

? " I think ... 

0\1-\ C\ 



;< 

)( 
x 

@ 

@ 

© 

© 

(cJJ 

Name 

  

Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 

was easy (to, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement(<:::)). 

Problem Predict (mental) Check (calculator) I think ... 

2000 + 10 = C) T 
u eJ 1Me-lua - 0 ( 

so+ 10 = 5 T Uq� vC !/v1 e f 0 o 6P ---

7000 + 10 = 7i \ .,,,-

4+ 10 = O�t1 T 

3 + 100 =
40 � 'L 

---
1 + 1000 =

0, 
9 + 0.1 =

0 0 
7 + 0.01 = 7 � C) 

�· 
0.8 + 10 O,o OdD 
0.02 + 100 O,O002 0�'

u�ed 

IA/-;eci 

0 vv1e hoc/ 

(){ W1(?' �/ �10J �' 

q- 01ef0.ccl r

up¥1-ber� 01A.-t 

� 

J'� 7V �A 

VttAvn e,1 

beC-CA.lll 

J: 

Ct (/1 

What did you do to help yourself solve these problems mentally? ,I . {A )C<-'"? 114v1/1!tt0y·,;the. L<\.> k,0 le Nr,m6gf'c:; 

1kV\ I clotJ eJ +-tie ZeX'CJ C'cr1d ike Ja-1-; {"d1,1,J 1 Me 6,.J kla/5 , .. · rJ_,q�,-vv,o '5-
L/\ J d I (k()-f heed ±he do-t, <vl LA ?if a/of --J b G Z.atf cJ c;
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Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 

was easy t"A'}, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement(<::::)). 

Problem Predict (mental) Check (calculator) ? <::::) I think ... 

2000 + 10 = /Z-OC) 
50 + 10 =

�

7000 + 10 = 7�{) 70 
4+ 10 = 0,1 
3 + 100 = {} .03 
1 + 1000 = O�GO<D 
9 + 0.1 = U(() 

7 + 0.01 = Oo 

0.8 + 10 lOV 7 

0.02 + 100 \\vo o

What did you do to help you rs elf solve these prob le ms menta I ly? -=-r'---·---'1""--A-',-(J---i'-'---0=--ol ___ 1!--'V1:....__-+t---l-f-+1-+/ ,o--'---.9:,,,L--.e--'-f<�s:.......,o"'---



Name 

  

Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 
was easy t*}, what was surprising { ! ), what was confusing { ? ), what caused disagreement {(?). 

Problem Predict (mental) Check {calculator) 

2000 + 10 = -2eo 2!J() I �r 
50 + 10 = 5 � 

7000 + 10 = 7(30 700 
4+ 10 = O.�\. 

3 + 100 = ,0 3 (!�03 -� ' 

/·

1 + 1000 = 0 .OC1 O� Ooi - I I r 1 
l Trl In C 

9 + 0.1 = qo qO 

7 + 0.01 = 708 7Df) .T ki1 Pv/ 
0.8 + 10 0.(% (!J l!Jz 
0.02 + 100 _0001 0_(JOD]

I --1-, 

W_�at did you do to he Ip yourself solve these prob le ms mentally? ____,,I=--�5..,_+...:c_...u.vC-'-'rl'-'i'----"' e"-'""J__...in-'-t--iY'---...+-Vk1'-'1'--"'CX_f_h�· i
_._
\ c"'"""'�""" -�--=C?...-..f_· 

h t 
_ 06-M-O. 
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Solve each problem mentally and then check you1 "'· .�vVer with a calculator. Check your work with your table mates -what 

was easy (to, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement (\?). 

Problem Predict (mental) Check (calculator) ? \/ I think ... 

2000 + 10 = 

50 + 10 = 

7000 + 10 = 
1-G cf 

4+ 10 = 

3 + 100 = 

1 + 1000 = 

9 + 0.1 = 

7 + 0.01 = +00
0.8 + 10 

0.02 + 100 



Name--, 

  

Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 
was easy {'tn, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement(\?).

Problem Predict (mental) Check (calculator) 

2000 + 10 = 20 ,2{)() 

50 + 10 =
-'� ) 

7000 + 10 = JOC) ' . (j 

'i 
J 

4+ 10 = \J\� \o 

'3 

-0��1J3 + 100 =
lidc., 

'• 

1 + 1000 = \�� a\�\)\ 
9 + 0.1 = /Q�- q[ J 11 

r I 
-

7 + 0.01 = 7m, ,\ ���] 
0.8 + 10 B-r t.�I 

0.02 + 100 7 0CJ o:6WL, 

*' ? \/

1)7 
t
'

) 
\ 

V1 

�
I 

I 
f) 

I think ... 

��\� 
' 

\ I 

� \;:l'\ 
\ 

' \ 

, I 

"� <, �\� S OA\1¥\� -

What did you do to help yourself solve these problems mentally? ----4\ _ _,.�c....,.\
,,_,._
,,(\

.,,_
\-, �-�----"-"-'��

"'\-
,-_ __,_,\N

:.....;.
���z,-,.,.,_,__\' _____ _

� \ r 
\ ' .�\-� \ \ i\\\()'{-J \ \ \'\. ;\ 



Name

Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what
was easy-t*}, what was surprising ( ! ), what was confusing ( ?),what caused disagreement(\?).

Problem Predict (menta I) Check (calculator) *' ? \/ I think ...

2000 7 10 = 'dOOO �OD 
\
e 

50 7 10 = s 5 it-

7000 7 10 =
'-=ton --=I-on 

�

4 710 = ' 1 

O.lf () ��( it 

3 7 100 = <s>� 
O(JD� I? 

{OU !,l> 

17 1000 =
/) nhl 

I 

f'i-CDJ 

o�-�
-

970.1=
oJ 

V 

7 7 0.01 = D� O-=t- )00 r? 
0.8 7 10 O�(j n IJ7f \ 

�

0.02 7 100 D�O I Ooo or:l ,JI) 

What did you do to he Ip you rse If so Ive these problems me nta I ly? -L�---1+-a�l
--+
k-�_,__€

.-..
-'�d�O\

,._,.,_,___,
fl�d�d

J.--+-,
/ �

--=
c_.u=--'-'-$

-'-'
R.=�-�---

-A I, Di hlA--e_, ,p r 00(erns If'{ 1' +-k) tM)' par t\l\�f y





Name 
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Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 
was easy ('to, what was surprising ( ! ), what was confusing (? ), what caused disagreement ((?).

Problem Predict (mental) Check (calculator) *' ? <:? I think ... 

2000 7 10 = } Q() )OO 

50 7 10 = s 5 
7000 7 10 = l-00 Joo 

4710 = ir(\o o,t 
3 7100 = 0-ul 0,63 
17 1000 = Q,0crl 

C), V 01 

9 7 0.1 = q qo 

7 7 0.01 = 1o 700 

0.8 710 �.0) g O�Of 

0.02 7100 
er. 0002 t>-001-

What did you do to help yourself solve these problems mentally? ___________________ _ 



Name 

  

Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 

was easy t"tn, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement (\?). 

Problem Predict (mental) 

2000 + 10 = loo 
50 + 10 = 

7000 + 10 = 

4+ 10 = 

3 + 100 = 

1 + 1000 = 

9 + 0.1 = 

7 + 0.01 = 

0.8 + 10 

0.02 + 100 

Check (calculator) 

CP 
5 

700 

Ool\ 

Do� 

0 �\JC) \ 
C\O 

700 
0006 

O o 0001-

! ? \/ I think ...

1 '\ e '('(}{?__\-,() 'o t V-- TV1 e_ h O W\ ew � '(' \(. 
(Jy f-l-f rnso

What did you do to help yourself solve these problems mentally? 1 W Gl.S i\1, f) \)\\JCJ, +n�::t:

rio .be -the SO:co f._ -fu\ � o.. 'S -\-Y'\e Vffi�QX:: 4D-e f" om I'.? \eM ' 1,M\-\ \ 
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Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 
was easy rk}, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement(<:?).

Problem Predict (mental) Check (calculator) @! ? <:? I think ...

2000 + 10 = 2 0 () 200 I
I ' I 

,. 

so+ 10 = � 
�

7000 + 10 = 7 00 7(}[/ 
4+ 10 = 

�
L/ 

Lo

r2

3 + 100 = ___z__,,· 
,� 100 

1 + 1000 = �o l-
"lOoc 

9 + 0.1 = 0. q o,q 
7 + 0.01 =o t o 7 C), o, 
0.8 + 10. (/,(! 8 /, ;J 0u 

0.02 + 1oot·iQJ0'2 {7.00
1v 

What did you do to help yourself solve these problems mentally? ___________________ _ 



Name 

  

Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 

was easy rtn, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement ((:?).

Problem 

2000 + 10 =

7000 + 10 = 

4+ 10 =

3 + 100 =

1 + 1000 = 

-9 + 0.1 =

7 + 0.01 = 

0.02 + 100 

Predict (mental) Check (calculator) ! ? \/ I think ...

I I 

h1Y'l - \ 

What did you do to help yourself solve these problems mentally? 'v-\Y"\(X! °S. � .... o\ t.,v� Jock 0-:1: ·J be. 

d,'v11
��' aY1-6 -\-bo'\, ¢.,vJ0\)1 Ot. 2-Gro qa-:1d go-/. )he 4L.vn .. s:e.c:
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• /\._ I 

/'/ 

�

t, 
\ ? 
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Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 

was easy ttn, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement (<:::?).

Problem Predict (mental) Check (calculator) * ! ? <:::? I think ...

2000 + 10 = LCD loo -5$ 

50 + 10 = s s '¢ 

7000 + 10 = 100 1CO iz 

4+ 10 =
fo�)-� O,� 

3 + 100 =
r 

, 0.03 003 \'{} -

1 + 1000 = 0,0Q\ Q_oo\ \ tJ; 

9+ 0.1 = Q,o� 10 \? 
- :1 

7W 7 + 0.01 == 100 \ 
,< 

�:) Ob� \� 0.8 + 10 
-l.l0'B 

\ 

\ ':if/' 0.02T 100 2 OIJJ0), '.1::7 





Name 

  

Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 
was easy t*-}, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement(<:?).

Problem Predict (mental) Check (calculator) *' ?<:? I think ...

2000 + 10 = 1a6 Jr,c T .)... L I \.-. I( ;..i- �. �/\Jr,�� 

so+ 10 = r 
s +- i, . Ir. I< ,-�, ?i, T \l\!',,c, ' 

7000 + 10 = 
7 (Jc) 70') I+- L, 1) J. ,+ \,/v(/',<'1 -h 

4+ 10 = 
l I-� (\1\ y -r }L .. �k;t , __ JO,, J 

3 + 100 = "2 � + h 11� k I 1 vJ(h� ...fr 0 ,0'7:1 (7') ,0).) -

1 + 1000 = 
� , u I ('},o,O} rT _  -11.,,i"V\ k ,J- 1,,v&i( .,)¥

9+0.1= 
�� J Yr".7 + L IV\ ), ,+ 

,) 
)_ ,,.._ 1(1.,.C, 

I 

7 + 0.01 = 
1c./lJ '- -t-L ,.,,.,h J + ,,,..J� <; �/OrJ 

0.8 + 10 o,o'z> ("1) .()x --1:._ +·l-- ,vih l 
I 1" v,.A'S fl 

0.02 + 100 
(') I f'lr� Q ,,...,_,..,-r� Q --r-- l--'\r. ; l," I-< 

,'! I� (/1 ,-:; ,A

What did you do to help yourself solve these problems mentally? _Q'--'--'n2"-'-',l''---'-'-'-h-+'lo""""1 __ -1,,..[-l-,._.o
"'--
c:

-'---'
t --�--vvi�_,__C/J�----',,,\ ="·..,__,JC.'""'.J'--'-;_' --'-k_, _ _ _

:i6 
� 

.I ,-J 



Name/ 

 
Solve each problem mentally and then check your answer with a calculator. Check your work with your tablemates - what 

was easy t*}, what was surprising ( ! ), what was confusing ( ? ), what caused disagreement ((:?). 

Problem 

2000 + 10 ·=

so+ 10 =

7000 + 10 =

4+ 10 =

3 + 100 =

1 + 1000 =

9 + 0.1 =

7 + 0.01 =

0.8 + 10 

0.02 + 100 

Predict (mental)-. -

2_00 

5 

7DO 

O.�
00 �· f ,) 

0. 0(') I
,,........ --:� 

;-� y-(,. -. - l 
, 

-

Qo 7 
Q_Qg 

l '. /,v � 

\. 

·-Gtireck (calculator) *' ? (:? I think ...

20,6 
C 

;; 

1/l)o 
D.;i , 

()/0_3 

D.joo r

C).Q,\ 

(),,� 7 
r\(Orr 

-

"' 

What did you do to help yourself solve these problems mentally? J J ·, J 1 he wo( k.. {/I 5} f b vi D C/2e<Jt1 J iri
ne c�/cu__{ a__+e( 




